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3.  financial ���	��% ��	� and other contractual rights or obligations within 
the scope �$PFRS 9 Financial Instruments
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Recognition of revenue under PFRS 15 is based on
a. Risk and rewards;a. Risk and rewards;
b. Control;
c. Cash receipt;
d. Transfer of title.
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Revenue from a contract with a customer
a. is recognized when the customer receive the

rights to receive considerationrights to receive consideration
b. is recognized even if the contract is still wholly

unperformed
c. can be recognized even when a contract is

still pending
d. cannot be recognized until a contract exists



Other  Issues on Contract:

� Combination of contract� Combination of contract
� Contract modifications

�Separate contract
�Not a separate contract
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A company must account for a contract modification as a
new contract if:

a. Goods or services are interdependent on
each other.each other.

b. The promised goods or services are distinct.
c. The company has the right to receive

consideration equal to standalone price.
d.   Goods or services are distinct and company 

has right to receive the standalone price
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A performance obligation exists when
a. a company receives the right to receive

consideration.consideration.
b. a contract is approved and signed.
c. a company provides a distinct product or

service.
d. a company provides interdependent product

or service.
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(P100 ÷ (P200 + P100)) × P240 = P80
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The transaction price for multiple performance 
obligations should be allocated:

a. based on selling price from the company’s
competitors.

a. based on selling price from the company’s
competitors.

b. based on what the company could sell the
goods for on a stand-alone basis.

c. based on forecasted cost of satisfying
performance obligation.

d. based on total transaction price less residual
value.
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Revenue recognition under PFRS 15 is based on
a. Transfer of risk and rewards of ownership;a. Transfer of risk and rewards of ownership;
b. Transfer of control;
c. Transfer of title;
d. Payment of consideration.
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Indicators of transfer of control for an obligation 
satisfied at a point in time includes:

a. Physical possession;a. Physical possession;
b. Transfer of�����	�	��;
c. Acceptance of the asset;
d. All of the above
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Whether the buyer has scheduled delivery is not an 

indicator of passage of control.  Delivery, so that the 

customer has physical possession, is a control indicator.
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Revenue is recognized over a period of time if one of the 
following three conditions hold:

� The customer consumes the benefit of the seller’s 
work as it is performed

� The customer controls the asset as it is created 
� The seller is creating an asset that has no 

alternative use to the seller and the seller has the 
legal right to receive payment for progress to date 
even if the contract is cancelled.
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Recognizing Revenue from a Performance
Obligation Over Time/Over A Period of Time . The
following are factors for performance obligation that
change over time:

Measure progress toward completion

Method for measuring progress should depict 
transfer of control from company to customer.

Most common are cost-to-cost and units-of-
delivery methods. 
Objective of methods is to measure extent of 
progress in terms of costs, units, or value added. 
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For performance obligation satisfied over time,  
progress may be measured using

a. Input methods;a. Input methods;
b. Output methods;
c. Either a or b;
d. Neither a nor b.
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If the seller provides access to its intellectual property, revenue 
is recognized over the period of time for which access is 
provided, not deferred until the end of the license period.
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Bill-and-hold arrangements normally do not qualify for revenue 
recognition until delivery is made to the customer.  Prior to 
that point, control of goods usually is not viewed as having 
passed to the customer.
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Franchise arrangements typically include multiple 
performance obligations because the goods and services 
included in the arrangement are both capable of being distinct 
and are separately identifiable.
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Consignment arrangements normally do not qualify for revenue recognition until delivery is made to 
the end customer.  Prior to that point, control of goods is viewed as having been retained by the 
consignor, not by the consignee, so the consignor retains the goods in the consignor's inventory.  In 
this case, that means that Asser will retain the painting in its inventory until the painting is sold to an 
end customer.
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The sale of a gift card creates deferred revenue, as it is a prepayment by a 
customer for goods or services to be delivered at a future date.  Revenue is 
recognized when goods or services are delivered or when the likelihood of 
redemption is remote.  In this case, P5,400,000 were redeemed and 
another P450,000 were viewed as broken, yielding total revenue of 
P5,850,000.
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Key concept 
underlying 
revenue 
recognition

The realization principle: Recognize 
revenue when both the earnings 
process is complete and there is 
reasonable certainty as to 
collectibility of the asset(s) to be 
received.

The core revenue recognition principle: 
Recognize revenue when goods or 
services are transferred to customers 
for the amount the company expects to 
be entitled to receive in exchange for 
those goods and services.

Role of 
collectibility in 

Defer revenue recognition if cash 
collection is not reasonably certain. 

Defer revenue recognition until cash 
collection is probable.  Installment and 
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collectibility in 
determining 
whether revenue 
is recognized.

collection is not reasonably certain. 
Use installment method or cost-
recovery method to tie revenue 
recognition to subsequent cash 
collection. 

collection is probable.  Installment and 
cost-recovery methods eliminated.

Criteria for 
recognizing 
revenue over 
time

Depends on the earnings process.  
For long-term contracts, recognizing 
revenue over time is generally 
required unless reliable estimates of 
progress towards completion can’t be 
made.

Depends on characteristics of the 
contract and of the performance 
obligations being satisfied.
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